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Homework Questions?

What Do You Coll Someone Who Can't Turn Pancakes?

Cross out the letter pair next to each correct solution.

alblc|d|e|f|glh|i|j|k|]l|m
For each letter pair you DON'T cross out, write the upper
case letter in the box containing the lower case letter.
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Xavier is thinking of a number. Nine more than ‘S -9
four times the number is the same as fifteen less g. T 0
than twice the number. What is Xavier's number? @, &
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€¥) Yvonne is thinking of a number. Fifty, decreased by ‘S ‘d-F Jn!
three times the number, is the same as seven times the S\ i.1 PR
number, increased by 80. What is Yvonne's number? 2, T*2
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@0 Zabato is thinking of a number. Three times the ‘g (a.P B
sum of the number and ten is the same as eight g« = 1
times the number. What is Zabato's number? «) @R 63
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So JD’)ucﬁ Trouble ‘C@n‘ﬁ MNath?

Solve each equation or problem and find your solution in the answer column.

Write the letter of the answer in each box that contains the exercise number.
If the answer has a . shade in the box instead of writing a letter in it.
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@ The Sun Spa charges annual dues of $125 plus $10 per hour © —47
to use the facilities. The Moon Spa charges annual dues of @ 26
$230 plus $7 per hour to use the facilities. For what number
of hours would the two spas charge the same total amount? @ 5
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Simon says: “Five times my age 4 years ago is the same ® 315
as 3 times my age in 2 years.” How old is Simon now? 5
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He is 13 Years old.



2 2 Up and Down the Staircase
o

Exploring Slope

5\D‘>(,
Linear functions are often used as models for patterns in data plots.
In Moving Straight Ahead, you learned several facts about equations

representing linear functions. _ b
16— Mt

¢ Any linear function can be expressed by an equation in the form
y=mx+ b.

o The value of the coefficient m tells the rate at which the values of y 7
increase (or decrease) as the values of x increase by 1. Since m tells you
the change in y for every one-unit change in x, it can also be called the y, | y\wapt
unit rate. A unitrate is a rate in which the second numberis 1, or 1 of a
quantity.

« The value of m also tells the steepness and direction (upward or
downward) of the graph of the function.

o The value of b tells the point at which the graph of the function
crosses the y-axis. That point has coordinates (0, b) and is called the
y-intercept.

In any problem that calls for a linear model, the goal is to find the values
of m and b for an equation with a graph that fits the data pattern well. To
measure the steepness of a linear equation graph, it helps to imagine a
staircase that lies underneath the line.
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The steepness of the line is the ratio of rise to run. This ratio is the slope of

the line.
lope = vertical change  \jge
S'OP€ = Horizontal change
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Linear equation basics:

Slope Intercept Form:
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Slope Calculation: From a graph, a table, or 2 points.
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What Do You Call a Duck That Steals ?

For the first six exercises, find the slope of the line AB. For the remaining exercises, figith
slope of the line that passes through the two given points. Cross,out each box in the

below that contains a correct answer. When you finish, prin thasem

boxes in the spaces at the bottom of the page. -
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OBJECTIVE 5-h: To find the slope of a line given
‘ ; : ALGEBRA WITH PIZZAZZ!
two points on the line (not using the graph). © Creative Publicatioznzs 153



Homework

Finish classwork



